IHRA: NEES4AT AAERILE - HENBELETSR
I —EhRATF L h55%iHh
AL B :HM4E8H198 (&) 8RF405
F @A [Fi R E](d): 42510FM
TR AEMR[FIRE]: 37,139FH
KAREEEMA R R E]: 36,396,220/

AFLBITIE (REFHEEAL T )

ZHES 1005
IR :265
%%
Bl i T E Bl & O DEON T HES S EIRE M R
AL R
. [ % - L 3 o — & i FEATfiE ()
R L5 | RS | AL S0 | AR CHo | @R | 15000010 |1souo0in | ZEEIS | e | SRR gy | BRELTON B gl L D | AR [ eG00w)/100 ,
E=Ed M TARBR | TR | MTIERE | TPk 32 FRRERG | FRAEERAG ,\y‘ﬁﬁﬁ & I&Lf@ FESLETE ) LToRE freL o e (a>““ DB )(T-1) | *{dCT-EAMi#5)/b) JIEAE AL
) T4k e RE (b) i Gt ST+
N A2 IR N A3 NSRS N3 YIRS N AL AL N AL ISR TN INFE 2 AL PIEESI
73; f;@’;_ 2 2 1 1 0 0 0 0 0 0 1 2 0 0 9 9 40,300 1.14977 1 e}
=z 2 0 1 0 0 0 0 1 1 0 1 2 1 0 9 9 41,000 113014 6
KRB 0 0 1 1 0 0 0 1 0 0 1 2 0 0 6 6 41,000 1.09903 10
Ix"(:;*)_’g*’f 2 2 1 1 0 0 0 1 0 0 1 2 1 0 11 11 41,100 1.14808 2
7 A Bk 2 2 1 1 0 0 0 0 0 0 1 2 0 0 9 9 41,200 1.12465 7
T Re— 2 2 2 2 0 0 0 0 0 0 1 2 0 0 11 11 41,250 1.14390 3
hs—X 0 0 2 3 0 0 0 1 0 1 1 2 1 0 11 11 41,300 1.14252 4
BETEH 0 0 1 2 0 1 1 1 0 1 1 2 1 0 11 11 41,500 113701 5
[E3=8=33 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 2 42,000 1.03238 1
()BT B S 2 2 2 1 0 0 0 0 0 0 1 2 0 0 10 10 42,400 1.10285 8
KEEEBH 0 0 1 1 0 1 1 1 0 1 1 2 1 0 10 10 42,500 110025 9




